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1) What is the main source of electrical power in the car while the engine is running?
1) - The battery
2) +  The alternator
3) - The fuses
4) - The starter motor
2) What is the function of the fuses in the car?
1) - Generating electrical power
2) - Converting mechanical energy into electrical energy
3) +  Protecting electrical circuits from overcurrent
4) - Starting the engine

3) Which indicator suggests that the battery needs charging?
1) The appearance of a green light
2) +  The appearance of a black indicator

3) - The appearance of a yellow light
4) - The absence of any indicator
4) What happens if the alternator is malfunctioning?
1) - The car will operate normally
2) +  The battery will be drained until its charge is depleted, causing the car to stop
3) - The fuses will blow
4) - Fuel consumption will increase
5) What is the primary role of the car’s computer?
1) - Operating the headlights
2) +  Regulating the operation of the car’s components and analyzing sensor data
3) - Storing music
4) - Reducing fuel consumption only
6) Which component is considered the car’s charging unit?
1) - The battery
2) - The starter motor
3) +  The alternator
4) - The fuse
7) If the fuses keep burning out repeatedly, what should the driver do?
1) - Replace the fuses with ones of higher capacity
2) - Permanently “jumper” the fuse
3) +  Stop and inspect for an electrical short or device malfunction
4) - Operate the car without fuses
8) Which of the following sensors, if it fails, will cause the engine to stop completely?
1) - Temperature sensor
2) +  Crankshaft position sensor
3) - Oxygen sensor
4) - Pressure sensor
9) When the battery voltage drops, which of the following symptoms may occur?
1) - Dim headlights
2) - Delayed engine start
3) - Weak operation of electric windows

4) +  All of the above

I dasall /11



el & ) seanll
claia aMlA
L IV SR K

11)

12)

13)

14)

15)

16)

17)

18)

19)

What is the function of the relay in the car?

1) - Starting the engine
2) +  Reducing the number of electrical wires and the load on them
3) - Increasing the battery’s capacity
4) - Charging the alternator
Which of the following is used to convert electrical energy into mechanical energy to start the engine?
1) - The battery
2) - The alternator
3) +  The starter motor
4) - The fuse

What happens if the negative terminal of the battery is disconnected while the car is running and the
alternator is faulty?

1) - The car will continue to operate normally
2) +  The car will shut down
3) - The engine temperature will rise
4) - The engine speed will increase
What is the normal operating voltage of the alternator while the car is running?
1) - 10-12 volts
2) + 13.5-15 volts
3) - 16-18 volts
4) - Less than 10 volts
Which of the following might lead to weak electrical performance in the car?
1) +  Loose battery terminals and accumulated dirt on them
2) - Overcharging the battery
3) - Using fuses with a higher rating
4) - All of the above
How is the alternator tested?
1) + By measuring the voltage while the engine is running
2) - By completely discharging the battery and then starting the car
3) - By touching the positive terminal with a wet hand
4) - By turning on the headlights only

What is the role of the ignition switch?
1) +  Allowing current to reach the starter motor to start the engine
2) Operating the interior lights
3) Controlling the air conditioning
4) - Powering the battery
Which of the following systems is electrically operated in the car?
1) +  The electric brake system

2) - The mechanical fuel system
3) - Hydraulic brakes
4) - The manual gearbox

What happens when the fuel filter becomes clogged?
1) + It may cause the engine to stall while driving
2) - The car’s speed will increase

3) Fuel consumption will decrease
4) - The battery voltage will rise
Which of the following signs indicates a weak battery?
1) +  Delayed engine start
2) - Bright headlights
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- Highly efficient air conditioning
- Increased fuel consumption
Why should one avoid using a battery with a capacity higher than needed?

1) - Itreduces the engine’s lifespan

2) + It imposes an extra load on the alternator
3) - It consumes more fuel

4) - It affects brake performance

What is the primary indicator of an alternator malfunction?
1) +  The battery warning light illuminates on the dashboard

2) - Smoke coming from the exhaust
3) - Clicking noises when starting the engine
4) - Weak brake performance
If the starter motor does not crank and the engine does not start, what is the likely cause?
1) + A malfunction in the ignition system or a failure of the electrical supply to the starter
2) - A faulty fuel pump
3) - Damaged spark plugs
4) - A clogged air filter
What is the likely reason for the engine shutting off when the brake pedal is pressed?
1) + A malfunction in the air intake system or an issue with the brake system
2) - A problem with the rear wheels
3) - Increased fuel pressure
4) - A weak battery charge
What is the purpose of the “auto start-stop” system?
1) +  Reducing fuel consumption during temporary stops
2) - Increasing engine torque

3) - Enhancing brake performance
4) - Reducing vehicle vibrations
What does the red oil light on the dashboard indicate?
1) + A low engine oil level, which may lead to engine damage
2) - Expired brake fluid
3) - Engine overheating
4) - Low coolant level
How can the battery’s efficiency be tested?
1) +  Using a voltmeter
2) - By turning on the lights only
3) - By pressing the accelerator pedal
4) - By disconnecting the negative terminal and waiting for minutes

What is the function of the electric fuel pump?
1) +  Supplying fuel to the engine at the appropriate pressure

2) - Lowering the engine’s temperature
3) - Reducing exhaust emissions
4) - Enhancing the air conditioning performance
What is the function of the cooling system in engines?
1) - Heating the air entering the engine
2) + Reducing the engine’s temperature and preventing damage
3) - Increasing fuel pressure
4) - Enhancing brake performance

Which component is responsible for circulating water within the cooling system?
1) - Radiator
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+  Water pump
- Temperature sensor

- Filter

What is the function of the radiator cap?
1) - Storing fuel
2) +  Increasing the boiling point of water
3) - Reducing the oxygen intake into the engine
4) - Improving brake performance

What is the name of the component that prevents oil leakage into the combustion chamber?
1) - Air filter
2) +  Valve seals
3) - Crankshaft
4) - Injectors

What is the primary function of the lubrication system?
1) - Enhancing fuel performance
2) +  Reducing friction between moving engine parts
3) - Cooling the fuel prior to combustion
4) - Reducing air consumption

Which of the following substances is used as a coolant in modern engines?
1) Plain water only
2) + A mixture of water and ethylene glycol

3) - Engine oil
4) - Compressed air
How can you distinguish between green and red coolant?
1) - The red coolant contains silica, whereas the green does not
2) +  The green coolant contains silica, whereas the red does not
3) - Both are exactly the same
4) - Red coolant is used only in older cars
What is the primary role of the oil filter?
1) +  Filtering impurities from the oil
2) - Increasing the pressure inside the engine
3) - Storing backup oil
4) - Improving fuel efficiency
Which of the following issues may lead to engine overheating?
1) +  Low engine oil level
2) - Malfunction in the exhaust system
3) - Excessive air in the fuel mixture
4) - Not replacing the spark plugs on time
How can one determine if there is a malfunction in the thermostat?
1) +  The engine temperature rises rapidly
2) - There is an oil leak
3) - Black smoke appears from the exhaust
4) - Brake performance weakens

What is the purpose of the flywheel?
1) +  Storing energy during the power stroke

2) - Increasing engine speed
3) - Reducing fuel consumption
4) - Enhancing the performance of the braking system

Which of the following components is responsible for opening and closing the valves?

I asall4/11



el & ) seanll
claia aMlA
L IV SR K

- Flywheel
+  Camshaft
- Radiator
- Oil sensor
40) What is the primary purpose of the oil pressure sensor?
1) - Measuring the amount of incoming air
2) +  Alerting the driver when the oil pressure is low
3) - Regulating fuel delivery within the engine
4) - Controlling the exhaust system
41) Which of the following reasons might cause the coolant level to drop without any external leakage,
accompanied by bubbles?
1) + A damaged head gasket
2) - A malfunction in the oil pump
3) - A clogged air filter
4) - Anincrease in engine speed
42) What is the main function of the fan in the cooling system?
1) - Enhancing fuel combustion
2) +  Cooling the water in the radiator
3) - Increasing the oxygen level in the combustion chamber
4) - Cooling the air entering the engine
43) What happens when the oxygen sensor in a car fails?
1) - The engine stops immediately
2) - The fuel consumption decreases
3) +  The engine runs inefficiently and may consume more fuel
4) - The car’s battery drains faster
44) What does ECU stand for in automotive technology?
1) - Engine Cylinder Unit
2) - Electronic Control Unit
3) +  Engine Control Unit
4) - Electrical Component Utility
45) What is the main purpose of a catalytic converter?
1) - Increase engine power
2) - Improve fuel economy
3) +  Reduce harmful emissions
4) - Boost turbo performance
46) What component is responsible for starting the engine?
1) +  Starter motor
2) - Alternator
3) - Radiator
4) - Fuel pump
47) What is the common symptom of a failing battery?
1) - High fuel consumption
2) - Engine overheating
3) +  Difficulty in starting the engine
4) - Increased exhaust smoke
48) Which part of the suspension system absorbs shocks from the road?
1) - Control arm
2) +  Shock absorber
3) - Brakedisc
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4) - Fuel injector
49) What does ABS stand for in automotive safety systems?
1) +  Anti-lock Braking System

2) - Automated Braking System
3) - Active Balance Suspension
4) - Advanced Braking Structure
50) What is the function of the throttle body in an engine?
1) - Increases oil pressure
2) +  Controls the amount of air entering the engine
3) - Pumps fuel to the injectors
4) - Regulates coolant temperature
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